Properties of Logarithms:

Power Property: log, C° = b-log,C

The exponent becomes
a coefficient.

Rewrite using the Power Property:

logW* + logX” = ‘{L%N WLQ@Q

Product Property of Logarithms:

logsMN = logyM + logsN

Solve without using the change of
base formula.
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Expand using the properties of Logs:
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Quotient Property of Logarithms:

logs(A2B4)® = lO‘jS AQT;}{ = )2 \()%E+ &LHO%E%

or Iogb% =logpM - logyN
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Expand using as many of the properties of
Logs as you can:
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Use the properties of logarithms to write
each as a single logarithm.
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